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Run 4471 triggerwise, sums: All
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Entrizs: 1836586

Mzan: 41718637 4 31842

Std Dew: 43152805 + 1.251%
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Run 4471 triggerwise, sums: Beam ON, Laser ON
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Endries: 822500

Maan: 4557.9925 +4 5.5703

5id Dew: &T1R5188 ++ 4.2217

Eniries: 821643

Maan: $583.0108 +/ 59207

Sed Dew: ATZTH S 4 4.2381
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Run 4471 triggerwise, sums: Beam OFF

Endries: 5705

Mzan: 1420.8605 4+ 303749

Bid Dwrw: 2234.3615 +- 31 4ATE3
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Run 4471 triggerwise, sums: Beam ON, Laser OFF
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Enirias: 235142

Maran: THN}.O65E ) 59332

Sed Dwrw: 2ETT. 1107 4+ 4.1954
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